2022381 A = Al = o A Ml A
ANTFE : F715] (29 = A
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2. A A5 0 1,300/  -1,300
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194 #¢ 10,085 10,085 0
1.3 524 10,085 10,085 0
] S s R 10,085 10,085 0
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2. 2.3 16,858 8,918 7,940
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2. 8270489 1,431 1,080 351
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2.3t 3 9 A e 12,541 5,452 7,089
1.9 =29 1,372 1,372 0
1. duk=g-n) 1,372 1,372 0
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3.9 7g 1,700 1,700 0
1. 9ukE8n) 1,700 1,700 0
4. 985 9m o7y 7,089 0 7,089
(AHEH_ 1) s =] Q)
1.1 A A Qe An 7,089 0 7,089 5,576,000
1A= ] 5,576,00091#1% =
(AHA_1F) S5 AL BAAL 90 1,513,000
1,513,000 1=
3.3 5,478 3,678 1,800
1. AHA & 5,478 3,678 1,800
1.8 w2 A ) 2,958 2,958 0
1. 058 H| 2,958 2,958 0
2. A A & E Y 1,800 0 1,800
Az 1=3=)8H A AS-E Sreln]
1. 0580 1,800 0 1,800 (33 1) 3k A e 1,800,000
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3. FBAEETY 720 720 0
1. 05990 720 720 0
37184 usgdE 66,796 41,436 25,360
1,03 g% 28,276 16,546 11,730
1.0 8Ex¢ 3,420 2,490 930
1. WA WA (R =4 9] 370 500 -130
1.8 $9dn 370 500 ~130 | WAFE I T 1 -130,0009 %14 = -130,000
2.2 A45H A 100 100 0
1.¥+949 100 100 0
3.7123E A% 1,890 1,890 0
1.¢949 1,350 1,350 0
2. W) 540 540 0
4.3 AN S 1,060 0 1,060
(BEH_1F) eI AL FR(FAAGH]) -
1.71E 300 0 300 300,000
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20,0009 %23 195 =
2. 70 W% 440 1,140 -700
1. w783 440 1,140 -700
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‘ 1. 05990 ’ 399 399 0
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1. 073 1,399 399 1,000
(AFA1F) P Eess 4749
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5.%3 watgs 2,808 2,808 0
1. 07993 2,808 2,808 0
‘1 LG ’ 2,808 2,808 0
6. 4% weE 3,300 2,300 1,000
1. 073 3,300 2,300 1,000
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2.9 H] 500 500 0
10. AR 0} HE 1,100 0 1,100
1. 33 1,100 0 1,100
1. A F -9 H] 1,100 0 1,100 ;ﬁf&%&?ff‘ﬂ wEE Y 1,100,000
2.8 AL 27,160 13,420 13,740
12488 9,960 8,420 1,540
1.3 a5 85 4] 990 900 90
1. 0529 990 900 go| (B A 1%162)%0 ij*if;ﬁ% =N 90,000
2. A5 3] 1,020 1,020 0
1. A& 1,020 1,020 0
3. S AFE A B A 2,500 2,500 0
1. 05890 2,500 2,500 0
4, W3 E A & st 1,200 1,200 0
1.8 1,200 1,200 0
5. 4 Al 3 o =gs 2,800 2,800 0
1. 05890 2,800 2,800 0
6.7 AH 7B &g 1,450 0 1,450
1. 05290 1,450 0 1,450 (*é%‘ﬁ:_;z?;(})oﬂ*m f wBEHA 1,450,000
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4.8 nSBE 7,630 7,750 -120
1. %353 &9 880 880 0
18353t 880 830 0
157143 % 880 880 0
1. 099 830 830 0
2. 58 6,250 6,370 -120
1.5M8529 6,250 6,370 -120
1. =47 5,000 5,000 0
1. =/ 5,000 5,000 0
2. BN B 1,250 1,370 -120
1.95% 0 120 -120 | ZAATE(EAZIE) 0 -120,0009+12)= -120,000
2. WS 1,250 1,250 0
371t A9 A w&SE 500 500 0
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5. 058%F A9 21,121 22,091 -970
1.uFg% &9 5,576 6,546 -970
JRRTA I PN S o 5,576 6,546 -970
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PRRIE e R 1,420 1,420 0
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1. 0o 400 400 0
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2. W 5&qH| 200 200 0
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1.8 124 3,000 3,000 0
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4. 35017 R 9,381 9,381 0
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1. 434 71 9,381 9,381 0
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2. k8] 4,072 4,072 0
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6. 1] -4 1] 500 500 0
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1.9 Rk8-] 800 800 0
2. 4Nl 5] 1,400 1,400 0
3. HFE TG 600 600 0
2. A1 A 74 68,461 41,224 27,237
1. 8 A A ] f A 68,461 41,224 27,237
1. 33 FDAN T 20,194 20,194 0
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5.34 % 3,432 3,432 0
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3.3 e dH 1,800 2,100 -300
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2. Rk S0 200 200 0
2. 8P H R L5 150 150 0
1.494] 150 150 0
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